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Unit #3 Day #6
Calculator Matrices and

the Inverse Matrix
Method

Objectives:

1. Students will learn how to enter and
edit matrices in their graphing
calculators.

2. Students will solve systems using
the Inverse Matrix Method.

To enter a matrix in your calculator:

[2nd] MATRIX EDIT

Use the matrices A, B, C & D with your
calculator to do problems #1 - #8.
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INVERSE MATRIX METHOD
Solve the following
L 2x=8 x+4=7 x-3=2
2 2 2 -y —¢ +3 +3
x=/lo
X=4 X=3 X=5
What did we do to solve each of the previous problems? m_m
Solving using matrices...

Solve forx: AX =2

remember that matrices use slightly different properties!

To solve a system using the Inverse Matrix Method
1

Enter the coordinate matrix in calculator as [A]

2. Enter the constant matrix in calculator as [B]

=1
3. Compute A .B

Solve the following problems using the inverse matrix method on vour calculators.
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Rewrite the system as a matrix. Use the Inverse Matrix Method to solve.
x—3y=-1 (_ ) ° N
{_5x+16y=5 1,0) Wnrferseston,

Coordinate Matrix: ] Variable Matrix: Constant Matrix:

N R R

5

Solve using the Inverse Matrix Method:
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15. Mr. Frederickson bought 4 pencils, 3 erasers, and 2 binders and spent a total of $22.50.
Mr. Edwards bought 5 pencils, 8 erasers, and 3 binders and spent $43.50.
Ms. Isaacson bought 7 pencils, 1 eraser, and 6 binders for $27.00.
Setup a system of equations. Solve vour system using the inverse matrix method.

4P +3f +aB=a.50
5P +-8E+38 = 43.20
1P+ £ +68 =37.00
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pencil costs #a.50
kn eroser costs # 3.50
A binder costs #1.00
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